Mathematics Worksheets - Year 1

Addition Worksheet 4 (word problems)

1. John has five pencils. Peter gave him four more pencils. Now how many
pencils does John have altogether?

2. There are six birds sitting on the branch of a tree. Two more birds join
them. Now how many birds are there altogether?

3. In a garden, there are four roses and three lilies. How many flowers are
there altogether in the garden?

4. In a basket, there are six oranges and four mangoes. How many fruits are
there in the basket altogether?

5. I have two books. | buy two more books from the shop. Now how many
books do | have altogether?

6. Linda has five red pens. She has five blue pens also. How many pens does
Linda have altogether?

7. | bought some fruits for Rs.5.00 and some vegetables for Rs.3.00. How
much money should | pay the shop keeper?

8. There are ten apple trees and ten orange trees in an orchard. How many
trees are there altogether in the orchard?
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Answers

1. 10 pencils
2. 8 birds
3. 7 flowers
4. 10 fruits
5. 4 books
6. 10 pens
7. Rs.8.00

8. 20 trees
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